V1=0
V2 = {Vin1}
TD =5n
TR=15n
TF=15n
PW=0.1n
PER =

V1i=0

V2 = {(Vin1/-6.6)}
TD=8.1n
TR=0.8n
TF=0.8n
PW=0.1n
PER =

3 5
PreamplifierA % g

Q [a)
> z da200 > z
cé e 4 g 2
w w
I da100 PREAQUT INA n NA o
V10 100n = s
- dal00 da200
_‘ o fus]
INB % a INB % L?)
Vil o 2 & @
] fos]
. - ) )
InputProtectionl PreamplifierB —— ] —_— 0
— o =

: -0

PREBOUT .,
]
s

[a)
0 = C3 dad00 > z

PSUB 1u c7
-
L 3 =4 da3000utA <K<—— F——1 na S 3
= InputProtection - 0 Preamplifier -0 1u =
0 z
VBl |VB2 VB4
§ R3 da400
250k
BiasGenerator
C5 o
[a] =)
da3000ut8 <<—} N
1u
3.3 o
3
R4 ?0 o
250k

BiasGenerator

.||
o

o
.||
o

PARAMETERS:
Vinl =10m

Dis!

300

VD
NWELL

INA

VD
NWELL

da300

GND
PSUB

PSUB

Discriminator

outs—=

p
-
w
= OUTA
=4
\%

ouTB DAZOUTRY da3000utA

R8
11k

ouTAI—LPARYTRY da3o0outs

100k 100k

.||
o



